rorzr— Foaz7—

boazr— rorzr—

TAMO02 TAMO1 TAs TAD 168001 168002 168003 168004 168005 16B006 Ky "edars ™ "wos ™ T oM 15 IJ;;‘?L’/?:L‘M uéé‘;i’,?—“oz Ué&i’/?&): TB.001s T8.022M 78208 Funk WhC Funk DbC CROSS TEN CROSS EIGHT CROSS Six CROSS FIVE "oia e JUSTICE 05
¢\ , D) & ** ’
0 € |
7V LS \ 4
=4 &3 w3t FybFILRAZ NIE| HPCD |42 MIEHAXRRYY 9?5%51 HqZ rS1IT7— J&G e ale 77 S & b = IUIIFALINALR IVITVFL Jarozx TR R—5— TLT1RR SYRATAR Bz
1Y H1X e [ TAMO02 TAMO1 TAS TAD JGBYY=X| LU-221 | LH-015 MCM SC025 Wos TC-02 TC-10M TC-09 TC-05 | YA /N=01] YK)L/N=02 [ Y#)L/\=03 | TB-001S [ TB-022M | TB-08 |Funk WMC| FunkDDC | #0Z7Y | YHAIAb |40AYyHZ|HI0A7717 D12 Cup 06 05
73-F R2/02- cv3 19HEXM12x1.5 64 |5/114.3| 20 - - 235/35-20 20 X 8.0 - - - - - - - - 45 45 - - - - - - - - -
19 - - 235/40-19 19X 8.0 - - - - 45 48 - 45 45 7.5J48 45 - - - - - - - - -
18 235/45-18 18 X 8.0+50 235/45-18 18X 8.0 - - - - - - 45 1.5J48 7J48 43 7J35 7J38 7J48 7J48 7J48 7.5)48 - - - - - - - -
7A-RYTI- 17 215/55-17 17X 7.0 - - - - - - 38 38 7J38 38 38 38 38 38 38 - - - - - - - -
TaA-RtEHY H28/05- CR7% 64 [5/114.3| 20 235/35-20 20 X 8.0 - - - - - - = = 45 - 45 = = = = = = = = = = =
731-Fa1-0OR 19 235/40-19 19X 8.0 - = - - 45 48 - 45 45 1.5)48 45 - - - - - - - - - - -
18 235/45-18 18 X 8.0+55 235/45-18 18X 8.0 = = = = = = 45 7.5J48 1J48 43 1J35 7J38 7J48 7J48 7J48 7.5)48 = = = = = = = = = = =
17 225/50-17 17 X 7.5+55 225/50-17 17X 17.0 = = = = = = 38 = 38 38 38 38 38 38 38 38 = = = = = = = = = =
16 - - 16 X 6.5 - - - - - - - - - - - 38 38 38 38 38 - - - - - - - - -
1441k H30/12- ZE4 19HEXM12x1.5 64 [5/114.3| 19 - 235/35-19 19X 8.0 - - - - 45 a2 - 45 45 7.5) 48 45 - - - - - - -
18 235/40-18 18 X 8.0+50 235/40-18 18X 7.0 - - - - - 8.0J45 7.5)38 48 8.0J43 35 38 48 48 48 48 7.5)38 - - - - - - - - -
17 215/50-17 17 X 7.0+45 215/50-17 17X 7.0 - - - - 38 - 38 L] 38 48 48 48 38 38 38 - - - - 7.5J35 - - - -
16 215/55-16 16 X 7.0+45 215/55-16 16 X 6.5 - - - - - - - - 48 48 38 38 38 7.0J35 - - 7.0J35 - - - -
H21/03- ZE2/3% 56 | 4/100 | 17 = - 195/45-17 17X 6.5 - - - - - - - = = = 45 6.0J50 = = = = = = = =
16 185/55-16 16 X 6.0+53 185/55-16 16 X 6.0 ° ° ° ° ° 45 ° 45 ° 45 43 42 50 50 42 40 ° ° ° ° ° ° °
15 185/65-15 175/65-15 15X 6.0+50 15X 5.5+45 185/65-15 175/65-15 15X5.5 = = 43 = = = = = = 43 43 45 43 43 = = = = = =
14 = = 175/70-14 14X 5.5 = = = = = = = = = = = = 45 45 43 5.0J35 5.0J35 = =
Jr¥ll R3/04- RV 19HEX M12x1.5 64 |5/114.3| 19 - - 225/45-19 19X 15 - - 53 - - - - - - - - -
18 225/50-18 18 X 7.5+55 225/50-18 18X 1.0 55 7.5J55 53 53 53 53 53 - - - - 53 7.5J53 -
17 - 215/60-17 17X 7.0 55 53 53 - 53 6.5)44 53 53 53 53 55 53
16 215/60-16 16 X 7.0+50 215/60-16 16 X 6.5 - - - - 48 48 48 48 48 - - - - - -
H25/12- RU1-4% 64 |5/114.3| 19 - = 225/45-19 19X 7.5 = = = = = = = = = 53 - = = = = = = = = = = =
18 225/50-18 18 X 7.5+55 225/45-18 18X 7.0 = = = = = = 55 7.5)55 53 53 53 53 53 = = 53 7.5)53 = = = = = = = = = =
17 215/55-17 17 X 7.0+55 215/55-17 17X 1.0 = = = = = 55 = 53 = 53 53 6.5)44 53 53 53 53 55 53 = = = = = = = = = =
16 215/60-16 16 X 7.0+55 215/60-16 16 X 6.5 = = = = = = = = = = 48 48 48 48 48 = = = = = = = = =
N-BOX H23/12- JF1/2/3/4/5/6% 19HEX M12x1.5 56 | 4/100 | 16 - - 165/45-16 16 X 5.0 - - - 45 - 45 - 45 45 45 45 - - - 45 - - -
N—BOXHZ%L A—RE13~VSMET X 15 165/55-15 15 X 4.5+45 165/55-15 15 X 4.5 - - 45 - 45 - - 45 45 45 45 45 45 45 - - 45 - - -
N-BOX2Zv¥a 14 155/65-14 14 X 4.5+40 155/65-14 14X 4.5 - - 45 - 45 - - 45 45 45 45 45 45 45 45 - 45 - -
N-BOX7352 13 145/80-13 13 X 4.0+35 145/80-13 13X 4.0 - - - - - - - - - - 43 43 45 43 43 43 - -
N—VAN H30/7- JJ1 56 | 4/100 | 12 145/80-12 12 X 4.0+40 145/80-12 12X 4.0 = = = = = 2 3.5J42 = = 3.5J42 3.5J42 3.5042 42 42 3.5J48 = =
N-WGN R1/8- JH3/4% 19HEXM12x1.5 56 | 4/100 | 16 - 165/45-16 16 X 5.0 - - - 45 45 - - 45 45 - - 45 45 45 -
H25/11- JH12% 15 165/55-15 15 X 4.5+45 165/55-15 15X 4.5 - - - 45 45 - - 45 45 - 45 45 45 45 45 - - - - - 45 -
14 155/65-14 14 X 4.5+40 155/65-14 14X 4.5 - - - - - 45 - 45 45 45 45 45 45 45 45 45 - - - - - 45 - -
13 - - 13X 4.0 - - - - - - - 43 43 45 43 43 - - - 43 - - -
N-ONE H24/11- JGHR 19HEXM12x1.5 56 | 4/100 | 16 = = 165/45-16 16 X 5.0 = = = = = = = 45 = = = = = = = = = = = =
[2wD NA] 15 165/55-15 15 X 4.5+40 165/55-15 15X 4.5 = = = = 45 = 45 = 43 5.0J45 45 43 45 45 45 45 45 5.0J45 45 43 - - 5.0J45 45 - -
14 155/65-14 14 X 4.5+40 155/65-14 14X 4.5 = = = 45 = 45 = = 45 45 45 45 45 45 45 45 45 45 45 45 45 = = 45 45 = =
13 = = 13X 4.0 = = = = = = = = = = = 43 43 45 43 43 43 = =
T7vtd H25/11- RC1/2/4/5% 19HEX M12x1.5 64 |5/114.3| 20 - - 225/35-20 20 X 8.0 - 45 - 45 - - - - - - -
(M TVyRET) X717 Uh-NET 19 - - 225/40-19 19X 8.0 45 45 45 45 7.5053 45 - - - 48 45 - -
18 225/45-18 18 X 7.0+55 225/45-18 18X 1.0 - - - - 55 7.5J55 53 53 53 53 53 - - 48 48 53 53 - - - -
17 215/55-17 17 X 7.0+55 215/55-17 17X 7.0 - - - - 55 53 53 53 6.5J44 53 53 53 53 53 - - 1.5J42 - -
16 215/60-16 16 X 6.5+55 215/60-16 16 X 6.5 - - - - - 53 53 - 53 53 53 7.0J35 - 7.0J35 - - 7.0J40 - -
JL12R H26/12- GM4-5% 19HEX M12x1.5 56 | 4/100 | 17 ® ° 195/45-17 17X 6.5 ° ° ° ° ° ° ° ° ° ® 45 6.0J 50 o o o 5 5 5 5 5 5 5 5
16 185/55-16 = 185/55-16 16 X 6.0 - - - - = = = 45 = 45 45 43 42 50 50 42 = s = 40 = = = = = = =
15 185/60-15 15 X 6.0+50 185/60-15 15X 5.5 = = = = = 43 = = = = 43 43 45 43 43 = = = = = = = = = =
14 ° ° 175/70-14 14X 5.5 = ° ° ° ° ° ° ° ° ® 45 45 43 ° = 5.0435 5.0435 = =
CR-V H30/08- RT5/6 19HEXM12x1.5 64 [5/114.3| 19 - - 235/55-19 19X 8.0 45 48 - 45 45 7.5)48 45 - - - - - - - -
RW1/2 18 235/60-18 18 X 7.5+45 235/60-18 18X 7.0 48 48 48 - 48 48 48 - - 48 48 48 7.5J48 - -
17 - - 235/65-17 17X7.0 48 - 48 - 48 - 48 6.5) 44 48 48 48 48 48 48 -
H23/12- RM1-4% 64 |5/114.3| 19 = 225/55-19 19 X 8.0 - - - 45 48 45 45 1.5)48 45 = = = = = = = = = =
18 = - 225/60-18 18 X17.0 - - = 48 48 48 48 48 48 = 48 48 48 48 1.5J48 = = =
17 225/65-17 17 X 6.5+50 225/65-17 17X 7.0 = = o 48 48 48 ° 48 6.5J44 48 48 48 48 48 48 o o o
16 = 225/70-16 16 X 6.5 - - - - - 48 48 48 48 48 48 48 48 = = = = = = = = = =
Pady% H27/05- GP7/8% 19HEXM12x1.5 56 | 4/100 | 17 - - 195/45-17 17X 6.5 - - - - - - - - 45 6.0 50 - - - - - - - - -
GK8/9% 16 185/55-16 16 X 6.0+53 185/55-16 16 X 6.0 - - - - - - - - 45 45 45 43 42 50 50 42 - - 40 - - - - -
15 185/60-15 15 X 6.0+50 185/60-15 15X 5.5 - - - - 43 - 43 43 45 43 43 - - - - - - - -
14 - - 14X 5.5 - - - - - - - 45 45 43 - - 5.0J35 5.0J35 - -
Z7y7ody R4/05- RP6-8% 19HEXM12x1.5 64 (5/114.3| 20 ° ° 225/35-20 20 X 8.0 ° ° ° ° 45 ° 45 ° ° ° ° ° ° °
19 = = 225/40-19 19X 8.0 45 48 = 45 45 7.5)48 45 = = = = = = = =
18 = = 215/45-18 18 X 7.0 48 7.5)48 48 48 53 48 48 = = 38 38 48 48 =
17 205/55-17 17 X 6.5+45 205/55-17 17X17.0 48 ° 48 ° 53 ° 48 6.5J44 48 48 48 48 48 o o 1.5J42 =
16 205/60-16 16 X 6.5+45 205/60-16 16 X 6.5 = = = = = = = 48 48 = 48 48 48 7.0J35 7.0J35 7.0J40
H27/04- RP1-5% 64 5/114.3| 18 - - 215/45-18 18X 1.0 - - - 55 7.5J55 53 53 53 53 53 - - 53 53 - - - -
[INMTVyRET] 17 205/55-17 17 X 6.0+50 205/55-17 17X 7.0 - - 55 53 53 6.5) 44 53 53 53 53 53 - - - - - - - - - -
16 205/60-16 16 X 6.0+50 205/60-16 16 X 6.5 - - - - - - - 53 53 53 53 53 - - - - - - - -
ZR-V R5/4- RZ3/4/5/6 19HEXM12x1.5 64 (5/114.3| 19 = = 225/50-19 19X 15 - - = = 7.5J55 = 7.5)53 = = = = = = = = =
18 225/55-18 18 X 7.0+50 225/55-18 18X 7.0 = = 55 = 53 = 53 53 53 6.5)44 = ° 53 53 s = ° =
17 = = 225/60-17 17X 7.0 - - 55 = 53 = 53 = 53 = 53 53 53 53 53 = = =
WR-V R5/12- DG5 64 [5/114.3| 19 - - 225/40-19 19X 15 - 7.5J55 - 7.5053 - - - - - - -
18 - - 225/45-18 18X 1.0 - - 55 53 53 53 53 - - - - 53 53 -
17 215/55-17 17 X 7.0+55 215/55-17 17 X170 - - 55 53 53 - 53 6.5)44 53 53 53 53 53 -
16 215/60-16 16 X 7.0+55 215/60-16 16 X 6.5 - - - - - 53 53 - 53 53 53 - - -
74ybo0OZRE— R2/2- GR5-8 % 19HEX M12x1.5 56 | 4/100 | 18 205/40-18 18X 7.0 = = = = 48 45 = = = = = = = = = = = = = =
17 - - 215/45-17 17X 7.0 - - - - 45 45 45 6.5J45 = = = 6.0J40 = = = = = = = = =
16 185/60-16 16 X6.0+45 185/60-16 16 X 6.0 = = = = 45 45 45 43 42 50 50 42 = = = 40 = = = = = = =
15 - 15X 5.5 - - - - 43 - - - - - 43 43 45 43 43 - - - - - - - -
14 = = 14X 5.5 = = = = = = = = = = = = 45 45 43 = = 5.0J35 5.0J35 = =
71vb R2/2- GR1-4 % 19HEXM12x1.5 56 | 4/100 | 17 - - 195/45-17 17X6.5 - - - - - - - 45 6.0J 50 - -
714987U7 16 185/55-16 16 X 6.0+50 185/55-16 16 X 6.0 - 45 - 45 - 45 43 4 50 50 42 40 - -
T4YMNATYYR 15 185/60-15 15 X 6.0+50 185/60-15 15X 5.5 43 - - - - - 43 43 - - 45 43 43 - -
14 - - - 14X 5.5 - - - - - - - - - 45 45 43 5.0J35 5.0J35
H25/09- GK3-6% 56 | 4/100 | 17 - = 195/45-17 17X 6.5 = o o o o o o 45 o o o 6.0 50 o o o
GP5 SI"y-y" 16 185/55-16 16 X 6.0+53 185/55-16 16 X 6.0 = = = 45 = 45 = 45 43 a2 50 50 a2 = = = 40
15 185/60-15 15 X 6.0+50 185/60-15 15X 5.5 = = = 43 = = = = 43 43 = = 45 43 43 = = =
14 175/70-14 14 X 5.5+45 175/70-14 14X 5.5 = o o o o o o o o o 45 45 43 o o o 5.0J35 5.0J35
H22/10- GP1-6% 56 | 4/100 | 17 195/45-17 17X 6.5 - - - - 45 6.0J50 - - - - - - - -
16 185/55-16 16 X 6.0+53 185/55-16 16 X 6.0 - - - - 45 - 45 45 43 42 50 50 42 40 - - - - -
15 185/60-15 175/65-15 15X 6.0+50 15X 5.5+45 185/60-15 175/65-15 15X 5.5 - - 43 - - - - - 43 43 45 43 43 - - - - - -
14 - - - 14X 5.5 - - - - - - - - - - 45 45 43 5.0J35 5.0J35 - -
T1ybov bl H23/06- GP2% 19HEX M12x1.5 56 | 4/100 | 17 = - 195/45-17 17X 6.5 - - - - = = = 45 = = = 6.0J 50 = = =
(NTUYFEYD) GG7/8% 16 185/55-16 16 X 6.0+53 185/55-16 16 X 6.0 = 45 = 45 = 45 43 2 50 50 L 40 = s
15 185/60-15 15 X 5,5+50 185/60-15 15X 5.5 43 = = = = = = 43 43 = = 45 43 43 - - =
14 = = 14 X 5.5 - - - - - = = = = 45 45 43 = = 5.0J35 5.0J35
7)=R[ZV=F21X19 H28/09- GB5-8% 64 [5/114.3| 17 205/45-17 17X 6.5 - - - 53 - - - - - -
(NMTUyRET) 16 195/55-16 16 X 6.5 - - - - 53 53 - 53 53 53 - -
15 185/65-15 15 X 5.5+50 185/65-15 15X 6.0 - - - - - - 53 53 53 - - 50 -
7Y=R[ZV=FZN1Y H20/06- GB3/4% 56 | 4/100 | 17 - 205/45-17 17X 6.5 - - - - - - - 45 6.0J50 = = = = = = s = = =
(IMTUYRELD) GP3% 16 = = 195/55-16 16 X 6.0 - - - = = = 45 = 45 45 43 42 50 50 42 = = 40 = = = = = = =
15 185/65-15 15 X 5.5+50 185/65-15 15X 5.5 = = = 43 = = = = = 43 43 45 43 43 = = = = = = = =
14 185/70-14 14 X 5.5+50 185/70-14 14X 5.5 = = = = = = = = = = 45 45 43 = = 5.0J35 5.0J35 = =
717 H20/11- JC12% 19HEXM12x1.5 56 | 4/100 | 16 - - 165/40-16 16 X 5.0 - - - - 45 - - - - - -
[5-5"1INA] 15 - - 165/50-15 15X 4.5 - 45 - 45 - 43 5.045 45 43 45 45 45 45 45 5.0J45 45 43 5.0J45 45 - -
14 165/55-14 14 X 4.5+45 165/55-14 14X 4.5 45 - 45 - - 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45 - -
13 155/65-13 13 X 4,0+40 155/65-13 13X 4.0 - - - - - - - - - 43 43 45 43 43 43 - -

B COVYFUIAMRRMESZIV - RA— YA X2 BEIERLTVE T Iy F I AR EAOER - BRI L — R HRICED YA XD RBBZBENBDE T LYY F U IR HETEEEEEE LT,

* TIVHE—UVTIVRER




